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1

2 5-6 o) 60 4-6 0.8-2 1.0 X

2 13-16 255 | 100 3 15 1.0 X

3 3.2-45 4-6 0.8-15 | 1.0 %

4 2.8-3.0 4-6 0.6-0.9 | 1.0 X1

5 2.5-2.8 4-6 0.6-0.9 | 1.0 X

- 6 2.0-2.4 4-6 0.6-0.9 | 1.0 %
8 1-15 3 0.6-0.9 | 253X

10 1-1.2 Oz 100 3 0.6-0.9 | 253%1

12 0.9-1.1 35 0.6-0.9 | 3.5x

14 0.8-0.9 35 0.6-0.9 | 3.5x

16 0.65-0.75 4 0.6-09 | 353
18 0.5-0.6 4 0.6-0.9 | 4.0/45

1 36-40 1 20 1.5 ¥

2 13-14 2 20 2.0

3 6-7 3 20 2.0

AR 4 3.5-4.5 N, 100 -3 20 2.5 H
5 1.8-2 3 20 3.0

6 1.5-1.8 4 20 4.0 .

8 0.6-0.8 4 20 4.0 .

1 22-25 1 20 1.5 #

2 13-15 1 20 2.0

. 3 6-7 2 20 2.0
& 4 3-5 Ne 100 2 20 2.5 M
5 1.8-2.5 2 20 2.5 B

6 1-1.5 2 20 2.5 B

1 20-22 1 20 1.5 #

2 0-12 1 20 1.5 #

) 3 455 1 20 2.0
S 4 2.5-3 N2 100 2 20 2.0 #
5 1.4-1.8 2 20 2.0

6 0.8-1 2 20 3.0 ¥




rec

1 16-18
2 5-6 -2 20 1.5
v A
=i 3 2535 Oz 100 2 20 2.0 ¥
4 1-1.5 -2 20 2.0 B
E:

1) LB 834 84208 50um;
2) AR YISk i B 28 £5 74 100:150;
3) KHAARVIFELI BB A 25710k, AEEEMNIES%.




